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Q1.

@) Underline the appropriate answer for the following multinle-choice Guestiony,
L In calculation of net cash flow, depreciation a
a) current Habilities.
b) income expenses,
¢) non-cash revenues.
d) non-cash charges,

ad amortization are treated as

M. Time value of money indicates that
a) A unit of money obtained today is woril

1 more than a unit of money ohf
i future,

i
L4
S

A unit of money obtained today is worth less than a unit of money obtai
future,

¢) There is no difference in the

the value of money obtained teday and tomorroy
d) None of the above. '

L If you wish to accumuate Rs, 140,000 in 13 vears, how much must vou depositg

in an account that pays an annual interest rate of 14%°

a) Rs. 1854036 S
b) Rs. 25489 71 ‘
¢) Rs. 12785.49 /

d)» Rs. 2042921



| Rs. 247,000 grow to be in 9 years if it is invested today in an account with
interest rate of 11%?

. 235,487.32

. 546,581.56

51631.835.12

1854,114.97

any years will it take for Rs. 197,000 to grow to be Rs. 554,000 if it is
m an account with a quoted annual interest rate of 8% with monthly

ding of interest?

ans to accumulate Rs. 450.000 over a period of 12 years by making equal
| deposits in an account that pays an annual interest rate of 9% (assume all
ments will occur at the beginning of each year). What amount must he deposit
1 year to reach his goal?
a) Rs. 20497.98
b) Rs.14598.32
¢) Rs.19214.65
' d) Rs25369.54

(06 x 02 = 12 Marks)



b) Indicate the following statements are True (T) or False (F) in the Space

L. A saving account at Bank “A” pays 6 percent interest, compounded anny
"B savings account pays 6 percent compounded sermannually. Bank
twice as much interest.

I,

The present value interest factor of an (ordinary) annuity (PVIFA) is the

annuity (FVIFA).
ue of an annuity increases as the nu

the future value interest factor of an (ordinary)

Hi.  The present val mber of years’ increa

(T

V. Compounding refers to the earning of interest on interest carned previously,

V. Present value tables for anpuily cannot be straight away applied to vari
cash flows.

¢) Suppose Kannan borrow R, 150,000. The loan’s annual interest rate is §%
requires four equal end-of-year pavments. Prepare an amortization schedule thyl
the annual payments, interest payments. principal repayments, and beginning
loan balances.



(08 Marks)

(Total 25 Marks)

nce value of Rs.1000 and five years remaining to maturity. Bond B has a
1000 and ten years remaining to maturity. Both bonds have the same
) %. Which bond has the greater interest rate risk?

{92 Marks}
. of the returns on the two securities, A and B, is - 0. 0005.The standard
L
s return i 4 % and the standard deviation of B’s return is 6 %. What is the

between the returns of A and B?

({14 Miarks}
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¢) Consider a portfolio comprised of three securities in the following proportionsg

the indicated security beta,

|_ --------- “E c;";} ______ ‘wa&uu-n—t;hves!ed(ﬂs Beta
l— """" A 1.5 Mitlion I
e }“—_ﬂ_ Ml T
e _j__“ 2Million | 68
T —— e
. What is the portfolio beta?
. What is the portfolio’s expected return?
................... :h\x
.......................................................................................................... g

..............................................................



rconsidered the following investment in 2018.

Expected return  Standard deviation
5% 0%
6% 12%
6% 10%

 would company prefer between the following pairs?

{06 Marks)
(Total 18 Marks)

llowing terms:

T R T e R O P R e

............................................................................................

.............................................................................

B e T o S T b AR o A W L i

.......................................................................................................................



11l. Cost of Preferred Stock

.....................................................................................

....................................................................................
..................................................................................
....................................................................................
......................................................................................
....................................................................................

......................................................................................

b) Ram Motors has a target capital structure of 40 % debt and 60% equity, ]

maturity on the company’s outstanding bonds is 9

% and the company’s fax i
percent. Ram’s CFO has caleul

ated the company’s WACC as 9.96%.
company’s cost of equity capital?

S

...............................................................................................
...............................................................................................
................................................................................................
.................................................................................................

¢) A company has on its hooks the following amounts. and specific costs of each

capital.

Type of capital Book value (Rs) Market value {Rs) Speciﬁc.cos’_
Debt 600,000 .I 580,000 15
Preference 100,000 110,000 ¢ 18
Equity 400,000 800,000 24
Retained Earnings 200,000



(D5 Marks)
the Weighted Average Cost of Capital using market value weights.

{05 Marks)
(Total 17 Marks)
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Q4. )
a)  What are the four tain ty

b) ABC Company curtently pays a dividend of Rs.50 per share and this dividend

rate for 3 vears. then at a 12% rate for the next three:

e forever, Wi

1o grow at a 13% annual

it is expected to grow at a 3% rat 1at value would you place on th
9% rate of return were required?
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(69 Marks)
may issue a pure discount bond of Rs.1000 face value for Rs.520 today fora

5. What i5 the rate of interest of the bond?

i
O T T R e e e e A e R ST SRR R e e
R e R P I P e L e e e e B N S e R e S U e e R R R e S U ]
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(62 Marks)
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d) John is considering investing in a bond currently selling for Rs, 8785 The bond |
years to maturity, a Rs. 10,000 face value. and 8% coupon rate. The next annuglj

payment is due one vear from today. The approximate discount factor for inve

similar risk is 10%. Calculate the intrinsic value of the bond.

a) Differentiate between Business Risk and Finaneiai Risk.
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1
........................................... e
............ £ .........‘...........................”.,
................................. .“““”‘“‘-“”“”““““.”.”‘.“””'“.‘“.é‘““-“““”’“r
................................................................................................... Vil
"
...................................... '..............‘......‘.....”.,.......‘.........‘.........‘._._.
........................ ..‘.........;......H..............................A..................<....‘._
................................................................................................... ol
.................................................................. R R e R e S



......................................................................................
.........................................................................................

B s oo e e AR 2 P AR G R TR R e e AT
.....................................................................................

B - e e i S T AR RGN S i e s e R A
e ————— e e e
.......................................................................................

...........................................................................................

Rs.
100.000

200.600

800,000

........................................................................................
.......................................................................................
.......................................................................................
........................................................................................
..........................................................................................
s RO e e SR e e S
........................................................................................

............................................................................................

.............................................................................................

.......................................................................

........................................................................................

...........................................................................................

....................................................................................................................
.....................................................................................................

13




1.

Calculate the Total Leverage (TL) of the RT L.

¢) A company is considering two

projects and can only accept one of them, The pr
cash flows are as follows:

I e - e S s i

Year | Project A Cash Flow | Project B Cash Flow |
I - e el e T S
| (1 - Rs.10,000,000 | - Rs15,000.000

3] RETS‘E@EO%_”_T"_Kﬁf 700000

...................................................................

...................................................................................

......................................................................................
...........................”...................‘.........‘.....-.................‘..--.:-"'
B

...............................................................................

..........................................................................................
............................................................

...........................

.................................................................
= T S R e
...................................................................................
y-»a|-..-n.-u.-‘.cn--z-|¢|.¢-qt-¢|.-n--|.-1-;..14--;a-.n-—u-—u1“-—1»--u-u..uu-.u-..;'.:’
“ "“"“"“""“"‘"'“““"""""""“"'""""""“"".-.‘
.....‘.......‘..-..............-.-......-.'..\ Nesaaa

.............................................................................

.........................
................
. EIE R ..........‘..............................<...-..‘.‘...-..-......-'."
..........................................................
. v e R L e
.................................................................................



aeraderrmisaidnnnis

(06 Marks)

Explain the reasons behind vour choice.

{03 Marks)

e
o



d) Use the following information to answer the following guestions

You have been given‘tbis probability distribution for the period of re

stock:
State of Eeé‘iomy Prohabilily fie
A 0.3
B 0.5
& 0.2

[.. What is the expected return for KMP stock?
a) 10.4%
b) 9.32%
¢) 11.63%
d) 11.54%

I What is the expected standard deviation for KMP stock?
a) 6.91%
b) 8.13%
¢y 7.79%
d), 7.25%



